BAIZY—ZELIL

60k o &R

AJOvs
NO K4 FRA FHE FRL B
(I T | il 3 KR 7u—14
2 BN AT HE 2 B Tu—2t 1F 2:28 o
3 TEH OEAN EESFEE 2 =R JU-sft o
4 i KAk #3bde v fEow ov—w TF 1:38 T 2.8
5 SHl {— TmWIAFREFL 2 RE Jy—2i
6 EHF Wi &L 1 =B y—2i
7 B ME HEF 3 MR U —
B7Ov%
NO K4 FRA FE FREL JER
s Ef EE BX 2 RE Ju— FO:24
9 EE ¥ EER 1 KB Tv—2tt
0 BEE -8 JEIx R Tv—et ——
11 BER F REB/NE s B U1 TF 2:47 o1y O
12 fE3t ®3 MEUE 2 AEL Sy
13 it KE XESEYE 3 kKR Ju-1k TF 2:54
NO JIE iz K& 2RA FE | FRE
= EEX B AR\ B 3 i
Baf B FEF wE 2 =H
HE3 i K Mkt 1 |[#n&kd
e LtH #85 LES 2 RHE
BASLIO—T REAIL 60kgﬁ. &
AJOvs
NO ¥ $He 25 FRE  EM
1 —J)K Rk BEHE 3 RE siaw
2 ,EE EK ﬁ;’* 3 ﬁﬂ 7'/:2{11} TF 3:33
3 FE E= XMIGE 2 &R JLaik = TF 333
4 HO #/E NEIFE 1 R Jraze T o TF_1.18
5 FH XM e 2 FBL Yioew —
6 B EiE B 1 KB JLaik
B70OvY
NO K4 FRA FE FRL B
7 R EE MFLIE 3 ML suaiw
8 A HE MHFEER 2 EE Juaow
9 #HAR AE RBEPEHE 2 BB Jraik o0 o
10 BiE B— KXWMEE 3 ZxB JLaz TF 2:23
1 BH &N HE 3 KER “uazi
12 KHI BX EXR 2 by — F2:51
NO [1:3ivd K4 R4 FE | FREA
=5 tiE B= RFIL B 2 =
Eof KEi EBX EXR 2 HE
B3 E=H X HE 2 |FF
B3k B RS R AR 2 =H




